Tomography with BPM

David Kelliher, 27/1/2022



Bunch monitor and BPM data
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Data compared at turn 9000




turn number

Data selected for tomography

350 - 350 -
300 - 300 -
250 - 250
200 - 5 200 -
Q
£
=
=
E
150 - 2 150 -
100 - 100 -
50 - 50 -
0- 0-
' | | ' ' ' ' | ' ' ! ' | |
0 20 40 60 80 100 120 0 20 40 60 80 100 120
time bin time bin

BPM (EH1 + EH2
Bunch monitor ( )

Turns 9000 — 9300 (when the synchronous phase is zero)
Assuming 4kV, the synchrotron period is 274 turns.
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Tomography projection
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Project tomographic reconstruction onto time axis on each turn.
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Reconstruction turn 1
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In lower subplot, black is input data, red is the projected reconstruction.



normalised signal

Reconstruction turn 126
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Reconstruction turn 251
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